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Multipliser desimaler med ti

2, 367 × 1000000 = ________ 8, 948 × 10000 = ________

10, 885 × 100000 = ________ 10, 107 × 100 = ________

3, 911 × 10000 = ________ 9, 862 × 100 = ________

7, 361 × 1000 = ________ 5, 196 × 100 = ________

1, 192 × 1000 = ________ 2, 95 × 1000000 = ________

2, 252 × 1000 = ________ 3, 569 × 10000 = ________

6, 529 × 100000 = ________ 10, 961 × 10 = ________

4, 405 × 1000000 = ________ 5, 755 × 1000000 = ________

2, 072 × 100 = ________ 9, 539 × 10 = ________

2, 415 × 100000 = ________ 9, 063 × 10 = ________
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